F IRHO-7—(15t~40t)
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e & B B = B ke 3,540 3,640 3,600
mE £ A T 3.105 3.105 3,100
| 2 % B 1,390 1,390 1,380
i = c 1706 1706 1.750
N % D " 2300 2300 2300
5 & #® r B % 280 280 250
N & % 800 800 800
P B % 1,300 1,300 1,300
K I EERE RS 10.5/80-16-6PR 10.5/80-16-6PR(OR) 10.5/80-16-6PR
x S 4 4 4
® o @5 » W’ % 1,300 1,300 1,300
w |2 i 5 kef 2700 2,700 2794
M % % vpm 3,300 3.120 3,600
s 0N % O * & " 4300 4300 4300
% K & H B 21 21 24
ETRE (MBER) n/h 0~12 0~10 0~12
wl®E B &L H P 36/2.300 24/2.200 20.9/2,400
B 5 = g 1,499 1,647 1,498
I Y 50 50 50
MoK A Y 5B B L 310 310 310




